Name : Pd: Date :

1) What is the slope of the graph of y = 13x—10?

K 10
A - 10 B. — 10 C. 13 D. 3

2) Which expression is equivalentto 5/162 ?
A.90\5 B.16\3  C.6\40 D.45\2

3) Which function is equivalent to g(x) = 4x*> —20x + 25 ?
A gx)=2x—-52x+5) C. gx)=“Ex—-1)(x+25)
B. g(x)=(2x- 5)2 D. g(x) = (2x + 5)2

4) Which table does Not show y as a function of x?

x |6 |-2|-7]3]2
A.

y | 3|19 |2]|7

x|3|8|0]|5]8
B.

y|5|5|5|5]|5

x | 6|14 |-3]10]| 0
C.

y |-6|14|-3 |10/ 0

x|-4|9 1|3 |4
D.
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5) Which function is equivalent to y = 2(x — 3)* +5 ?
A y=2x—12x+23 C. y=2x*+23
B. y=2x>—12x+13 D. y=2x*+13

6) What is the solutionto 7r — 1 =—-4+3(2r—-6)?

Answer :

7) Which value of x is a solution to this equation?
5x% —28x —96
A x=-38 B.x=-24 C.x=54 D.x=-6

8) What is the value of x in the solution to this system of

equations ? —3x+4y =20
y=5x-4
A -2 B. 6 C.2 D. -6

9) Which expression is equivalent to 8h* —24h ?

A. 8h(h—-3) C. 8h(h+3)

B. 8(82—13) D. 8(3/4 - 8)

10) Which expression is equivalent to 16x> +38x—5 ?
A. Bx+1)2x—-5) C.(@x-5@x+1)

B. 8x—1)2x+5) D. (16x—1)(x+5)

11) What is the y-intercept of y = 16(0.4)" ?

Answer :
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12) Which expression is equivalent to: , o . ,
16) What is the equation in slope-intercept form of the line that

(872 + 6r—3) — (3r* +2r — 10) passes through the points (4,— 3)and (20,9)?
A. 5F2+4I”+7 C.—5r2+4r—13 Ay=075x+6 Cy:075X—6
B. 5/2_4r—13 D. —5/2_4p_7 B. y=6x-0.75 D. y=6x+0.75

17) The table shows a linear relationship between x and .
13) Which value of x makes the equation 1.25(x —4) = 6 true? ) P y

A. 64 B. 8.8 C. 7.6 D. 14.8 x |15 | 0 5 20
y | -2 4 6 12

14) What is the positive solution to 2x> + 7x = 60 ?

What is the rate of change of y with respect to x?
Answer :

A. 2 B.-% c¢-% D32
15) An exponential function is graphed on the grid.

y

18) The graph of a quadratic function is shown on the grid.

T T T
-3 -2 - -5+ 3 2

[ R N VIO -
TN TR S S R W |
T

Which function is best represented by the graph?

A gl =8+ (%)x C. &)= 8(%)x A g(x)=—-x*+2x+6 C.gx)=—-x>+2x-6
B. g(x)= 8+(%)X D. g(x) = 8(%)x B. gx)=—-x*-2x—6 D. g(x)=-x*-2x+6

Which function is best represented by this graph?
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Answer Key-1 Answer Key-1
1 C 12 D
2 D 13 B
3 B 14 4
4 D 15 D
5 A 16 C
6 -21 17 D
7 18 A

8
9
10 B
11 16




